552

1200 =7 0384 +057

-

562

Tio0 =7 0403 +075

-

562
¢ 0409 |y g0

581
0427 4 1 00

-

590
0445 | 1 qg

-

618
¢ 0466 | 1 49

647
0501 | 4 gy

g
|

0 =

-

678
0525 | 539

,g
3
Il
-

713
0551 4 5 79

,g
o
Il
-

801
0604 | 397

,g
<
Il
-

913
0.663 4 547

,g
W
Il

-
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x—4.104) ERFHEERREXLBRBRE-—EX (BX7JOvII-A
fife 10 20 30 40 50 60 90 120 150 180
o 5 \
g BWAREL sl sl el el el e e a]|ow
! 913
— Iy e 90. 6 71.6 60. 8 53.7 48. 4 44. 4 36. 2 31.1 27.5 24. 8
2 4547
! 801
— I3 = "ocoa 101.0 | 80.0 68. 4 60. 7 55.1 50.8 42.0 36.5 32.6 29.7
3 7T +3.91
1 713
— Is = "oss1 112.3 | 89.1 76.6 68. 4 62. 4 57.8 48. 4 42.5 38.3 3b.2
o > +2.79
1 678
— Iy = "0s2s 119.6 | 95.0 81.9 73.3 67.0 62.2 52.4 46. 2 41.8 38.5
7 P +2.32
1 647
— T ="gs01 126.6 | 100.7 | 87.0 78.1 71.6 66. 6 56. 4 50.0 45. 4 41.9
10 7T+ 1.94
1 618
— T2 = "oee 140.0 | 111.8 | 97.0 87.4 80.5 75.1 64. 2 57.2 52.3 48.5
20 90 4 149
1 590
— T30 ="oms 148.8 | 118.6 | 103.1 | 93.0 85.7 80. 1 68. 7 61.5 56. 3 52.4
30 " +1.18
1 581
— Ts) ="omm 158.2 | 126.5 | 110.2 | 99.6 92.0 86. 1 74.2 66. 6 61.2 57.1
o0 7 +1.00
1 562
— T80 =900 167.0 | 133.6 | 116.6 | 105.6 | 97.7 91.6 79.2 71.3 65. 6 61.3
50 4080
1 562
— T00 = "9203 171.4 | 137.3 | 119.9 | 108.7 | 100.6 | 94.3 81.7 73.6 67.9 63.5
100 54075
1 552
— 200 = o384 184.6 | 148.0 | 129.5 | 117.6 | 109.1 | 102.5 | 89.0 80.5 74. 4 69. 7
200 4057
(mm/hr)
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607

200 = £ 03 4 (57
618
Tioo = ¢ 0403 4 (75
618
Tso = ¢ 0409 0 en
639
Tso = £ %27 4 1 00
649
BT oms g
680
T = ¢ 0466 | 49
712
To = £ 0501 4 gq
746
7 = £ 0525 53y
784
Is = t 951 4979
881
= £ 0604 4 3 g)
1,004
L = {0663 4 547

M—-4.10) ERMEEXRBREEMKR EATOv/I-8
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x—4.10) EFEERNREXLBRBRE-—EXx (BX7JOvSI-B)
fife 10 20 30 40 50 60 90 120 150 180
R % R N
g BWAREL sl sl el el el e e a]|ow
! 1,004
— | =T 0663 99.7 78.7 66. 9 59.0 53.3 48.8 39.8 34.2 30.3 27.3
2 4547
1 881
| I3 = 0604 111.1 | 88.0 75.2 66. 8 60. 6 55.9 46. 2 40. 2 35.9 32.7
3 “ 4391
! 784
— | Ij =" 0551 123.5 | 98.0 84.3 75.2 68. 6 63. 6 53.2 46. 7 42. 1 38.7
° 4279
! 746
— |1y =" 0535 131.6 | 104.5 | 90.1 80.6 73.7 68. 4 57.7 50.9 46.0 42. 4
7 254032
! 712
T =7 os01 139.3 | 110.8 | 95.8 85.9 78.8 73.3 62. 1 55.0 50.0 46. 2
10 04194
! 680
|20 =T o460 154.0 | 123.0 | 106.8 | 96.2 88.5 82.6 70.6 63.0 57.5 53.4
20 90 4 1 49
1 649
|0 =7 oas 163.6 | 130.5 | 113.4 | 102.3 | 94.3 88.1 75.6 67.6 61.9 57.6
30 #4118
i 639
| Tso =T a7 174.0 | 139.1 | 121.2 ] 109.6 | 101.2 | 94.7 81.6 73.3 67.3 62.7
50 7+ 1.00
1 615
— | Ts0 =7 o400 183.7 | 147.0 | 128.2 | 116.1 | 107.4 | 100.7 | 87.1 78.4 72.2 67. 4
0 4080
! 618
| Two =7 va03 188.5 | 150.9 | 131.8 | 119.5 | 110.6 | 103.7 | 89.8 80.9 74.6 69. 8
100 54075
i 607
| T200 =7 o382 202.9 | 162.8 | 142.4 | 129.3 | 119.9 | 112.7 | 97.9 88.5 81.8 76.7
200 4057
(mm/hr)
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755

Iy = W

-

819

Tigg = W

-

L
o = § 0506 4 1 75

L
03 +2.60

-

1,136
I3p = 0366 1377

-

1,271
059 4 491

-

1,500

flo = oess 2

1,741

Iy =, 0675 +9.53

1,694

T —

1,647

I3 W

i
0.69 4 10.26

N

E—4.1(6) SEEHMEERWAEBR MEIOy S I—A
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£-4106) EHMBTHAEREBTABRE—S% @HEIO v TN
fife 10 20 30 40 50 60 90 120 150 180
S5 RS N
g BEEREA s d s sl a el s sl s s | »
! 1422
_ I, =T 069 .~ 93.6 78.0 68. 3 61.4 56. 2 52.0 43.3 37.6 33.5 30.4
2 777 +10.26
! 1,647
_ I3 =T 0697 103.8 | 86.9 76. 3 68. 7 62.9 58.3 48.6 42.2 37.6 34.2
3 71 +10.89
! 1,694
—_ I; =" o068l 115.2 | 96.2 84.5 76.2 69. 8 64.7 54.1 47.1 42. 1 38.3
5 4991
! 1,741
—_ Iy =" 065~ - 122.1 | 101.9 | 89.5 80.6 73.9 68. 6 57.3 50.0 44.7 40. 7
7 % +9.53
! 1,500
— o =7 oe38 - 129.7 | 107.3 | 93.9 84.5 77.5 71.9 60. 3 52.8 47. 4 43.2
10 S 7,22
! 1271
— o =7 3503 144.0 | 117.5 | 102.3 | 91.9 84.3 78.2 65. 8 57.8 52.0 47.7
20 7 +491
1 1,136
— 130 =~ 0566 - 152.5 | 123.2 |1 106.9 | 96.0 87.9 81.6 68. 7 60. 4 54.6 50. 1
3 5 4377
1 984
— IS0 =~ 051 ~ . 163.5 | 130.3 | 112.5 | 100.7 | 92.2 85.5 72.1 63.5 57.5 52.9
50 27 +2.60
! 863
— I'so =7 0306 174.1 | 136.9 | 117.6 | 105.0 | 96.0 89.1 75.1 66. 3 60. 1 55.4
50 S 41,75
: 819 179.0 | 139.9 | 119.8 | 106.9 | 97.7 90.6 76. 4 67. 4 61.1 56. 4
S Tigo = . . . . . . . . . .
100 0.495 +1.45
: 735 195.0 | 149.7 | 127.4 ] 113.2 | 103.2 | 95.6 80. 4 70.9 64. 3 59.3
- Tygo = - . . . . . . . . . .
200 0.476 +0.88
(mm/hr)
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575
T200 =7 0465 ~029

-

603
Tioo =7 0485 —0.04

-

606

Tso =7 "0490 002

-

649
051 4 (133

-

670

T30 =7 o5 +060

-

714
0549 | g9

-

804

Iy =
058 | 9]

842

;= 0609 | 5 46

893

Is 0632 | 314

982

= 0671 4 479

1,014
0700 | 10

N

M-41(0) SHMEEBEEAESE \KITOvYIV-A

24



Z—41(0) EFEERAEXILERRBRE—EX J\MRKXJOovyoINV-A)

il I 10 20 30 40 50 60 9 | 120 | 150 | 180
s L T S S I I I A A S S
1 1,014
— | 1 ————— | 913 | 712 | 60.0 | 525 | 47.0 | 42.8 | 34.5 | 20.3 | 25.7 | 23.0
2 U +6.10
1 982
— | —————— | 104.5( 80.7 | 67.7 | 59.2 | 53.0 | 48.3 | 39.0 | 33.2 | 29.3 | 26.3
3 P+ 471
1 893
— | —————— | 120.3| 91.3 | 76.2 | 66.5 | 59.6 | 54.3 | 43.9 | 37.6 | 33.2 | 30.0
5 T4+ 3.14
1 842
— | ————— | 120.1| 97.2 | 81.0 | 70.7 | 63.4 | 57.8 | 46.9 | 40.2 | 35.7 | 32.3
7 >+ 246
1 804
— | rg ==, | 1388|1038 86.2 | 75.2 | 67.4 | 61.6 | 50.0 | 43.0 | 38.2 | 34.6
10 ~% +1.91
1 714
— | ry == ——— |76 | 1157 | 95.7 | 83.3 | 747 | e8.3 | 55.7 | 48.1 | 429 | 39.0
20 7 +0.99
1 670
— | 1 =05y ——— | 1686|1226 | 101.1] 880 | 789 | 72.1 | 59.0 | 51.0 | 45.6 | 41.6
30 7 +0.60
1 649
— | ot =0 | 1816|1301 | 107.9] 93.8 | 842 | 77.0 | 63.0 | 54.6 | 48.9 | 44.7
50 4033
1 606
— | s =" —— |19a.8|139.0|114.0| 99.1 | 889 | 81.3 | 66.7 | 57.9 | 51.9 | 47.5
80 T +0.02
1 603
— | To =g —— | 200.0 | 142.4 | 116.8 | 101.4 | 91.0 | 83.2 | 68.3 | 59.4 | 53.3 | 48.7
100 450,04
1 575
— | 1o =———— |218.8| 1539|1258 | 109.1| 97.9 | 89.5 | 73.6 | 64.1 | 57.6 | 52.8
200 0465 29

(mm/hr)
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633

o0 = {0465 _ () hg
663

Tigo = £ 0485 (04
667
714
737
785
884
926
982
1,080
1,115

L = £ 0700 e 10

M-410) EHMEEBRTAESMSE \KIJOvINV-B
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x—4.108 EFEERREXLBRBRE-—Ex 70y N-B)
fife 10 20 30 40 50 60 90 120 150 180
S5 5 TR N
g BWAREL sl sl el el el e e a]|ow
! L115
- 1, =000 . - 100. 78.3 65.9 57.7 51.7 47.1 37.9 32.2 28.3 25.3
2 £ 07 1610
! 1,080
—_ I3 =" 061l . 114. 88.7 74. 4 65. 1 58.3 53.2 42.9 36.5 32.2 28.9
3 t 7 +4.71
! 982
- I; =" 062 -~ 132. 100.4 | 83.8 73.1 65. 5 59.7 48. 3 41. 4 36.5 33.0
5 €092 1314
! 926
- Iy =" 0600 ~ 141. 106.9 | 89.1 7.7 69. 7 63. 6 51.6 44. 3 39.2 3b.5
7 t 7 +2.46
! 884
— I'o =7 o580 - . 152. 114.1 | 94.8 82.7 74. 1 67.7 55.0 47.3 42.0 38.1
10 T
! 785
— o =7 o540 -~ 173. 127.2 1 105.2 | 91.6 82.2 75.1 61.2 52.9 47.2 42.9
2 £ O 1 0.9
! 737
—_ 30 =7 o508 185. 134.9 | 111.3 | 96.8 86. 8 79. 4 64. 9 56. 1 50.2 45.7
30 £ O 10,60
! 714
_ Iso =7 o511 ~ - 199. 144.2 | 118.7 | 103.2 | 92.6 84.7 69. 3 60. 1 53.8 49.1
50 £ 01 1033
! 667
—_ Tso =7 0400 . 214. 153.0 | 125.5 ] 109.1 | 97.8 89.5 73.4 63. 8 57.2 52.3
50 £ 09 10,02
! 663
— Tioo =7 o485 . - 219. 156.5 | 128.4 | 111.5 | 100.0 | 91.5 75.1 65. 3 58.6 53.6
100 £ 0% 0,04
: 633 240 169.4 | 138.4 ] 120.1 | 107.7 | 98.6 81.0 70.5 63. 4 58.1
e r200 == _—— . . . . . . . . . .
(mm/hr)

27




690

o0 = 0465 _ () hg
724

Tigo = £ 0485 (04
727
779
804
857
965
1,010
1,072

Is = £ 0632 431y
1,178
1,217

L = £ 0700 e 10

M-410) EHMBEEBRTEAESSE \KTJOvINV-C
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x—4.109 ERFEERREXLBRBRE-—ExXx J\MX7JOovyIN-0)
E% 5O MR R R 10 20 30 40 50 60 90 120 150 180
s L T S S I I I A A S S
! 1217
— 1, =000 . - 109. 85.5 72.0 63.0 56. 4 51.4 41.3 35.1 30.8 27.7
2 t 7 +6.10
! 1,178
— I3 =" 061l . 125. 96. 8 81.2 71.0 63. 6 58.0 46. 8 39.9 35.1 31.6
3 £ 07 1471
! 1,072
— Is =" 062 - 144. 109.6 | 91.5 79.8 71.5 65. 2 52.7 45.1 39.9 36.0
5 €09 1314
! 1,010
— Iy =" 0609 ~ 154. 116.6 | 97.2 84.8 76.0 69. 4 56. 3 48. 3 42.8 38.7
7 t o +2.46
! 965
— I'o =7 o580 . . 166. 124.5 | 103.5 | 90.3 80.9 73.9 60. 1 51.6 45.9 41.6
10 £ 0% 4191
! 857
— o =7 o540 -~ 189. 138.9 | 114.9 | 100.0 | 89.7 82.0 66. 9 57.7 51.5 46. 8
20 £ 5% 4099
i 304
— o =7 o508~ 202. 147.2 | 121.4 | 105.6 | 94.7 86. 6 70.8 61.3 54.7 49.9
30 £ %% 40,60
! 779
— I'so =7 0511 ~ - 218. 157.3 |1 129.5 | 112.6 | 101.0 | 92.4 75.6 65. 6 58.7 53.6
50 ¢ O 4033
! 727
— I'so =7 0400  ~ 233. 166.7 | 136.8 | 118.9 | 106.6 | 97.5 80.0 69. 5 62. 3 57.0
80 £ 04 10,02
! 724
_ oo =7 gass .~ . 240. 170.9 | 140.2 | 121.8 | 109.2 | 99.9 82.0 71.3 64. 0 58.5
100 €045 0,04
! 690
- o0 == nare 262. 184.6 | 150.9 | 131.0 | 117.4 | 107.4 | 88.3 76.9 69. 1 63. 3
200 t 0.465 0.29
(mm/hr)
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K—4.1(10)

N\

18,127

0T 0416
10,456
o0 =054 59 67
9,048
fo = £ 0925 4 5 e
6,469
Tso = ;0880 4 30 4g
4,465
LU {081 4 5y 5
3,387
fo = £ 07% 4 1899
2,214
fo = £ 074 4 1149
1,748
L= 070 4 g5
1,485
s = £ 0706 4741
1,077
o= £ 0675 5 1o
845

EREERRRBEMR XKEJOVIV-A
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£-4100 GHMRARERLBERE_EE RETOYH VA
fife 10 20 30 40 50 60 90 120 150 180
S5 5 TR N
g BWAREL sl sl el el el e e a]|ow
! 845
- 1, =" 0657 99.2 75.9 63. 4 55.4 49.6 45.2 36. 4 31.1 27. 4 24.6
2 7 4398
! 1,077
—_ I3 =" 0675 109.3 | 85.0 71.5 62.7 56. 3 51.3 41.5 35.4 31.2 28.0
3 54512
! 1485
- I; =" 0706 118.9 | 94.6 80.5 70.9 63.9 58.4 47.3 40. 4 3b.5 31.9
5 4741
! 1,748
- Iy =" 0720 124.9 | 100.5 | 86.0 76.0 68. 6 62. 8 51.0 43.5 38.3 34. 4
7 0 4875
! 2214
— I'o =7 o747 129.7 |1 106.1 | 91.6 81.3 73.6 67.5 54.9 46.9 41.2 37.0
10 T+ 11.49
! 3,387
— o =7 5796 138.0 | 116.2 | 101.8 | 91.2 83.0 76. 4 62.5 53.4 46.9 42.0
20 77 +18.29
! 4,465
— o =7 o831 142.3 | 121.8 | 107.7 | 97.0 88.6 81.7 67.0 57.2 50.2 44.9
30 = +24.59
! 6,469
— I'so =7 30 146.8 | 128.2 | 114.6 | 104.0 | 95.5 88.4 2.7 62.2 54.5 48.6
50 504 36.49
! 9,048
— I'so =7 5025 150.7 | 133.9 | 120.9 | 110.4 | 101.8 | 94.5 78.1 66. 8 58.5 52.1
80 T+ 51.62
! 10.456
_ oo =7 oaa 152.7 | 136.5 | 123.8 | 113.4 | 104.7 | 97.4 80.7 69. 0 60. 4 53.8
100 4 59,67
! 18,127
— oo =7 1053 158.0 | 144.3 | 132.7 | 122.7 | 114.1 | 106.6 | 88.9 76. 1 66. 5 59.0
200 4 104,16
(mm/hr)

31




19,940

200 =3 0416

-

11,502

flo0 =" Toom 59 67

-

9,953
0925 | &9 6o

-

7,116
0880 4 36.49

-

4912
081 42459

-

3,726
079 | 1699

-

245
0T 4 11.49

-

1
0.720 + 875

,g
3
Il
-

1,634
0706 4~ 47

,g
o
Il
-

1,185
0675 | 5o

,g
<
Il
-

930
0657 | 3 gg

,g
%
Il

-

M4 1(1) EHMEERBETEAEHK KEIOYI VB
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£—41011) AHEABFRAERLRERE-—ER GEIJOYIV-B)

fite . 10 20 30 40 50 60 90 120 150 180
g BWAREL sl sl el el el e e a]|ow
1 930
— r, =T 109. 83.5 | 69.8 | 60.9 | 54.6 | 49.7 | 40.1 | 34.2 | 30.1 | 27.1
2 ~77 +3.98
1 1,185
— YT 120. 93.5 | 78.7 | 69.0 | 61.9 | 56.5 | 45.6 | 38.9 | 34.3 | 30.9
3 2P+ 5.12
1 1,634
— Is  =""oooo 130. 104.1| 88.6 | 78.1 | 70.3 | 64.3 | 52.1 | 44.4 | 39.1 | 35.1
5 T+ 741
1 1,923
— ;. =""0 137. 110.6 | 94.6 | 83.6 | 75.5 | 69.1 | 56.1 | 47.9 | 42.1 | 37.9
7 Y+ 875
1 2,435
— Ty =g 142. 116.7 | 100.7 | 89.5 | 81.0 | 74.3 | 60.4 | 51.6 | 45.3 | 40.7
10 T +11.49
1 3,726
— T = "o796 151. 127.8 | 112.0] 100.3 | 91.3 | 84.1 | 68.7 | 58.7 | 51.6 | 46.2
20 77 +18.29
1 4912
— T30 = osa 156. 134.0 | 118.4 | 106.7 | 97.5 | 89.9 | 73.7 | 63.0 | 55.2 | 49.4
30 7 +24.59
1 7,116
— Tso = oss0 161. 141.0 | 126.1 | 114.4 | 105.0 | 97.2 | 80.0 | 68.4 | 59.9 | 53.5
50 7 +36.49
1 9,953
— T80 = o938 165. 147.2 | 132.9 | 121.4 | 111.9 | 103.9 | 85.9 | 73.5 | 64.4 | 57.3
80 77+ 51.62
1 11,502
— T100 = oo 168. 150.2 | 136.2 | 124.7 | 115.2 | 107.1 | 88.7 | 75.9 | 66.5 | 59.2
100 T+ 59.67
1 19,940
— 200 = 1003 173. 158.8 | 146.0 | 135.0 | 125.5 | 117.2 | 97.8 | 83.7 | 73.2 | 65.0
200 7 +104.16

(mm/hr)
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K—4.1(12)

N\

200

21,752

t " +104.16
12,547
fo0 =054 59 67
10,858
fgo = £ 0925 4 5 e
7,763
Tso = ;0880 4 3049
5,358
B0 = {081 4 5y s
4,064
2,657
fo = £ 074 4 1149
2,098
L= {070 4 g5
1,782
s = £ 0706 4741
1,292
1,014
L = 0657 4 3 ge

EREEEREBESAR XKEIJOvIV—C
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x—4.1(12) EEEBEREAEXALERRBRE—EX (BKEJOvyo V-0
E% 5 6 10 20 30 40 50 60 90 120 150 180
s L T S S I I I A A S S
1 1,014
— I, — 2 119. 91.0 76. 1 66. 4 59.5 54.2 43.7 37.3 32.8 29.6
2 t 0.657 + 398
1 1,292
— I3 — 2 131. 101.9 85.8 75.2 67.5 61.6 49.7 42. 4 37.4 33.6
3 t 0.675 + 512
1 1,782
— Is — 2 142. 113.5 96. 6 85.1 76.7 70.1 56.8 48.5 42.6 38.3
5 t 0706 4+ 741
1 2,098
— rs — 5 20’ 149. 120.6 | 103.2 91.3 82.4 75.4 61.2 52.2 46. 0 41.3
7 t %70 +8.75
1 2,657
— roy = 2 155. 127.4 1 109.9 97.6 88.3 81.0 65.9 56. 3 49.5 44. 4
10 t 9747 4+ 11.49
1 4,064
— Ty = 2 165. 139.4 | 122.1 | 109.4 99. 6 91.7 74.9 64.0 56. 2 50.4
20 t %76 4+ 1829
1 5,358
— ry = 2 170. 146.2 | 129.2 | 116.4 | 106. 3 98.1 80.4 68.7 60. 3 53.9
30 t 0831 19459
1 7,763
— sy = 2 176. 153.9 | 137.6 | 124.8 | 114.6 | 106.1 87.3 74.6 65.4 58.4
50 t 80 1 36.49
1 10,858
— gy = 2 180. 160.6 | 145.0 | 132.5 | 122.1 | 113.4 93.7 80. 2 70. 2 62.6
80 t 9% 1+51.62
1 12,547
— T100 = 2 183. 163.8 | 148.5 ] 136.1 | 125.7 | 116.9 96. 8 82.8 72.5 64.6
100 t %9 15967
1 21,752
— Ta0 = 2 189. 173.2 ] 159.2 | 147.3 | 136.9 | 127.9 | 106.6 91.3 79.8 70.9
200 t " 4+104.16
(mm/hr)
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1,150

T200 =7 0567 +1.74

-

1,117

Tioo =7 o574 +1.94

-

1,143
0582 L 5 17

1,115
0387 | 531

1,121

I3p =
059 | 5 e

1,116

T20 0608 | 5 gy

__Lue
0.627 + 350

1,115

7 0638 4 3 g7

1,072

Is =" o643 +308

1,033

I3 =" o658 + 445

911
0.658 L 497

-

[ = -
o a %
S5 3 =3
| Il Il Il | Il Il
- - - - - - - -

M-41(13) EHMEERMAEHE XEJO0vIVI-A
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£—4.1013) AHEBTFARAERLRERE-—ER (KETJOyIVI-A)

fite . 10 20 30 40 50 60 90 120 150 180
g BWAREL sl sl el el el e e a]|ow
1 911
— L = "oes 103. 79.6 | 66.8 | 58.4 | 52.4 | 47.8 | 38.6 | 33.0 | 29.1 | 26.2
2 t 7% +427
1 1,033
— 3 =T 114. 88.8 | 74.7 | 65.5 | 58.8 | 53.7 | 43.5 | 37.2 | 32.8 | 29.6
3 t %" +445
1 1,072
— s =" 128. 98.9 | 83.2 | 72.9 | 65.6 | 59.9 | 48.7 | 41.7 | 36.9 | 33.3
5 t 77 +398
1 1,115
— 7 = "oas 135. 104.9 | 88.3 | 77.5 | 69.7 | 63.7 | 51.8 | 44.5 | 39.4 | 35.6
7 t 77 +3.87
1 1,116
— N = "o0r 144. 111.1| 93.5 | 82.0 | 73.8 | 67.5 | 55.0 | 47.2 | 41.9 | 37.9
10 t 77" +3.50
1 1,116
— 0 =" oes 160. 122.6 | 103.1 | 90.4 | 81.4 | 74.5 | 60.8 | 52.4 | 46.6 | 42.2
20 t 0 +2.92
1 1,121
— T30 = om0 - 169. 129.2 | 108.5| 95.2 | 85.7 | 78.5 | 64.2 | 55.3 | 49.2 | 44.7
30 t 777 +2.66
1 1,115
— Ts0 = o - 180. 137.4 | 115.3 | 101.1 | 91.0 | 83.4 | 68.2 | 58.9 | 52.5 | 47.7
50 t 7 +231
1 1,143
— T80 = o - o 190. 144.9 | 121.5 | 106.5 | 95.9 | 87.9 | 71.9 | 62.1 | 55.4 | 50.3
80 t 7 +2.17
1 1,117
— Too = ooma 196. 148.5 | 124.3 | 109.0 | 98.1 | 89.9 | 73.6 | 63.6 | 56.7 | 51.6
100 t 2" +1.94
1 1,150
— 00 = o7 o 211. 159.6 | 133.4 | 116.9 | 105.2 | 96.4 | 79.0 | 68.3 | 60.9 | 55.5
200 t - +1.74
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(2) REfEERERRER

143.0
200 = ¢ 062 4o
131.8

_ 128.4
T8 43

1214

Tso = ¢ 065 144
113.2

T30 = ¢ 0658 1) 44
106.9

T = 968 045
95.9

0 = ¢ 05 () 47
90.4

- t 0.682 +0.48
84.2

- t 0.688 +0.48
75.6

- t 0.706 +052
67.6

2 - t 0.726 +055

M—42() RBMEXRBMBESE HkIovs I—A
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x—4.2(0) EEFHEMBERARAEXLERRBRE—EX BIdJovs I -A)

E{E T 1 2 3 4 5 6 9 12 18 24
5 T
IE = BER | BRRE) | RRRRS | BSRRED | RRRRSD | BRRED | RRRRED | BRRED | BRRE | BSRR)
1 67.6
— I ="ome ——— | 436|307 | 244|206 | 179 160|123 102 | 7.8 | 6.4
9 0.726+0.55
1 75.6
— 3 ="ome o | 49.7 | 351 ] 281 | 23.8 | 2.8 | 186 | 144 | 1220 9.2 | 7.6
3 0.706+0.52
1 84.2
— Is = "oes — | 569|403 ] 323 27.4| 2401|215 16.8| 140 10.8 | 9.0
5 0688 1 0.48
1 90.4
— 7 = "o | 611 | 434|348 2.6 | 2.0 233|182 | 153 | 1.8 | 9.8
7 0682 1 0.48
1 95.9
— o = oor —— | 652|464 | 37.4 | 3182801 2.1/ 19.7]| 16.5] 128 | 10.7
10 0674 1 0.47
1 106.9
— To = oeer —— | 73.7 | 52.6 | 42.4 | 36.2 | 31.8 | 28.7 | 22.5 | 18.9 | 14.8 | 12.3
20 0663 1 0.45
1 113.2
— 30 = ——— | 786 | 561|453 | 386 | 341 | 30.7 | 24.2 | 20.3 | 15.9 | 13.3
30 0658 1 0.44
1 121.4
— Isp =omr——— | 84.3 | 603|488 | 41.7 | 36.8 | 33.2 | 26.2 | 22.0 | 17.2 | 14.4
50 0653 1 0.44
1 128.4
— fs0 = oms —— | 89.8 | 64.3 | 52.0 | 44.5 | 39.3 | 35.4 | 28.0 | 23.6 | 18.5 | 15.5
80 + 043
1 131.8
— oo = | 92.8 | 66.4 | 53.7 | 45.9 | 40.6 | 36.6 | 28.9 | 24.4 | 19.1 | 16.1
100 0646 1 .42
1 143.0
— Thoo = | 100.7| 72.2 | 58.5 | 50.1 | 44.3 | 40.0 | 31.6 | 26.7 | 21.0 | 17.6
900 0642 4 49

(mm/hr)
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157.3

Tyo0 = £ 02 940
145.0
Tigo = ¢ 064 140
141.2
Igp = ¢ 004 443
133.5
Isp = t 0053 144
124.5
I3p = ¢ 0058 44
117.6
Iy = ¢ 0663 | 45
105.5
Iy = ¢ 0% 047
99.4
;= ¢ 0082 4049
92.6
s = ¢ 0088 4 049
83.2
= ¢ 079 4 5o
74.4
L =" 7% .
2 ¢ 0726 4 (55

E-4202) EHMEEBWBEHE HLIOvs 1B
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x—4.22) EHHEEREEALEREAE—EX WitIJovys 1 -B)

ﬁg % E W E R 1 2 3 4 5 6 9 12 18 24
I A = RER | BERE | BERE [ ORERE | BERD | BERD [ WER | RRERET | EERD | BRRE
1 74.4
— L =" 48.0 | 33.8 | 26.9 | 22.6 | 19.8 | 17.6 | 13.6 | 11.2 | 8.5 7.0
2 t 7 +0.55
1 83.2
— 3 = o0 —— 54.7 | 38.7 | 30.9 | 26.2 | 22.9 | 20.5 | 15.9 | 13.2 | 10.1 | 8.4
3 t 7 +0.52
1 92.6
— Is = oms 62.6 | 44.3 | 35.5 | 30.1 | 26.4 | 23.7 | 18.5 | 15.4 | 11.9 | 9.9
5 t 7 +048
1 99 .4
— 7 = "o 67.2 | 47.7 | 38.3 | 32.5 | 28.6 | 25.7 | 20.1 | 16.8 | 13.0 | 10.8
7 t 77 +048
1 105.5
— Ty = oo —— 71.8 | 51.1 | 41.1 | 35.0 | 30.8 | 27.6 | 21.7 | 18.2 | 14.1 | 11.7
10 t 7 +047
1 117.6
— 0 = omr 81.1 | 57.8 | 46.6 | 39.8 | 35.0 | 31.5 | 24.8 | 20.8 | 16.2 | 13.6
20 t 77 +045
1 124.5
— 130 = "omm 86.5 | 61.7 | 49.8 | 42.5 | 37.5 | 33.7 | 26.6 | 22.4 | 17.4 | 14.6
30 t 6% 1044
1 133.5
— 150 = oem 92.7 | 66.3 | 53.6 | 45.8 | 40.4 | 36.5 | 28.8 | 24.2 | 19.0 | 15.9
50 t 6% 1044
1 141.2
— 90 = omm 98.7 | 70.7 | 57.2 | 48.9 | 43.2 | 39.0 | 30.8 | 26.0 | 20.4 | 17.1
80 t 7 +0.43
: 1450 102.1] 73.1 | 59.1 | 50.5 | 44.6 | 40.3 | 31.8 | 26.9 | 21.0 | 17.7
- T = . . . . . . . . . .
00 | 10T ¢ 086 440
: 157.3 110.8 | 79.4 | 64.3 | 55.1 | 48.7 | 43.9 | 34.8 | 29.4 | 23.1 | 19.4
- r200 = . . . . . . . . . .
200 t %02 1 0.42

(mm/hr)
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171.6
200

= ¢ 002 40 as

158.2

Tigo = £ 064 140
154.1

Igg = ¢ 0% 443
145.7

Isp = t 0653 44
135.8

I3p = ¢ 0658 44
128.3

0 = o063 ~ o

20 ¢ 0663 4 (45
115.1

Iy = ¢ 0% 4047
108.5

r = T8 o

7 ¢ 0682 4 48
101.0

r =068

5 ¢ 0688 4 (48
90.7

= ¢ 079 4 5o
81.1

L =T 0% ..

2 ¢ 0726 4 (55

®-4203) EHMEEEFEAESS HEIovs1—C
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#—423) ERFHEEMBEEXLEREE—EX Bit7ovys 1-0)

@E % E W E R 1 2 3 4 5 6 9 12 18 24
R SN I
i B - WER | R | SRR | WERN | WERD | WERD | WER | BERD | BERD | WA
1 81.1
— L =0 52.3 | 36.8 | 29.3 | 24.7 | 21.5 | 19.2 | 14.8 | 12.2 | 9.3 7.7
2 +0.55
1 90.7
— 3 = o 59.7 | 42.2 | 33.7 | 28.5 | 25.0 | 22.3 | 17.3 | 14.4 | 11.0 | 9.1
3 +0.52
1 101.0
— Is = oo 68.2 | 48.3 | 38.7 | 32.8 | 28.8 | 25.8 | 20.1 | 16.8 | 13.0 | 10.8
5 % +0.48
1 108.5
— 7 = o 73.3 | 52.1 | 41.8 | 35.5 | 31.2 | 28.0 | 21.9 | 18.3 | 14.2 | 11.8
7 P +0.48
1 115.1
— o = oor 78.3 | 55.7 | 44.8 | 38.2 | 33.6 | 30.2 | 23.6 | 19.8 | 15.4 | 12.8
10 2 +047
1 128.3
— S rwre— 88.5 | 63.1 | 50.9 | 43.4 | 38.2 | 34.4 | 27.1 | 22.7 | 17.7 | 14.8
20 7 +0.45
1 135.8
— 30 = oam 94.3 | 67.3 | 54.3 | 46.4 | 40.9 | 36.8 | 29.0 | 24.4 | 19.0 | 15.9
30 % +0.44
1 145.7
— Ts) = oo |10L.2] 72.4 | 58.5 | 50.0 | 44.1 | 39.8 | 31.4 | 26.5 | 20.7 | 17.3
50 0 +0.44
1 154.1
— Ts0 = oas  —— |107.8| 77.2 | 62.4 | 53.4 | 47.2 | 42.5 | 33.6 | 28.4 | 22.2 | 18.6
80 7 +0.43
1 158.2 o5
— o = | 111.4| 79.7 | 64.5 | 55.1 | 48.7 | 43.9 | 34.7 | 29.3 | 23.0 | 19.
100 0646 4 () 4
: 171.6 120.8 | 86.6 | 70.2 | 60.1 | 53.1 | 47.9 | 38.0 | 32.1 | 25.2 | 21.2
- r200 == - . . . . . . . . . .
200 0642 4 (42
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